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1
Dealer N
None Vul

♠ AJ732
♥ 8632
♦ 9
♣ 865

♠ KQ4
♥ AQ74
♦ Q1074
♣ K4

♠ 95
♥ J109
♦ AK3
♣ QJ1032

♠ 1086
♥ K5
♦ J8652
♣ A97

5
16 11

8

2
Dealer E
N-S Vul

♠ QJ853
♥ AJ6
♦ 3
♣ 7543

♠ K74
♥ 83
♦ Q10862
♣ K102

♠ A1092
♥ 1075
♦ KJ7
♣ 986

♠ 6
♥ KQ942
♦ A954
♣ AQJ

8
8 8

16

3
Dealer S
E-W Vul

♠ AKJ32
♥ QJ4
♦ KQ65
♣ 6

♠ 76
♥ A7
♦ 10874
♣ AQ1052

♠ 109
♥ K9832
♦ 92
♣ J974

♠ Q854
♥ 1065
♦ AJ3
♣ K83

16
10 4

10

4
Dealer W
Both Vul

♠ 875
♥ AJ10
♦ KQ8
♣ J852

♠ Q1063
♥ K76
♦ J1092
♣ A4

♠ AKJ9
♥ 842
♦ 763
♣ KQ7

♠ 42
♥ Q953
♦ A54
♣ 10963
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10 13
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5
Dealer N
N-S Vul

♠ Q1084
♥ 94
♦ 9542
♣ Q76

♠ J63
♥ KJ87
♦ AK3
♣ A92

♠ K75
♥ AQ3
♦ Q1086
♣ J103

♠ A92
♥ 10652
♦ J7
♣ K854

4
16 12

8

6
Dealer E
E-W Vul

♠ J42
♥ AJ96
♦ 952
♣ K84

♠ A7
♥ Q1087
♦ Q10863
♣ 73

♠ 109863
♥ 42
♦ KJ
♣ A952

♠ KQ5
♥ K53
♦ A74
♣ QJ106

9
8 8

15

7
Dealer S
Both Vul

♠ AJ10
♥ KJ54
♦ AK9
♣ 1075

♠ 43
♥ A1072
♦ J1053
♣ Q86

♠ 7652
♥ 63
♦ 86
♣ KJ943

♠ KQ98
♥ Q98
♦ Q742
♣ A2

16
7 4

13

8
Dealer W
None Vul

♠ K865
♥ A942
♦ 42
♣ A32

♠ Q92
♥ Q76
♦ AQJ3
♣ J94

♠ A1043
♥ KJ105
♦ K97
♣ K10

♠ J7
♥ 83
♦ 10865
♣ Q8765

11
12 14

3

North South West East
Mean HCP 10.00 9.88 10.88 9.25

Balanced Hands 5 6 6 5
Voids 0 0 0 0

Singletons 3 1 0 0
Long Suits (>6) 0 0 0 0
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[Event "Lesson 8 - Cooperation in Defence"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:AJ732.8632.9.865 95.JT9.AK3.QJT32 T86.K5.J8652.A97 KQ4.AQ74.QT74.K4"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West has no trump suit of at least 8 tricks, and chooses to play NT. They

must win 10 tricks according to the straight. West becomes declarer.



North leads \S2, invited.



West wins the trick, and will probably play the club. If South remembers what

partner's lead means and plays back spades, the contract can be grazed.



If the counterplay does not find the return play in partner's suit, declarer

can win the contract by paying close attention to what happens when ace-king of

diamonds is played.}

[BCFlags "1f"]

[Auction "N"]

5 11 7 17



[Event "#"]

[Site "#"]

[Date "#"]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:AT92.T75.KJ7.986 6.KQ942.A954.AQJ K74.83.QT862.KT2 QJ853.AJ6.3.7543"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



South finds out that they have eight trumps in total and chooses hearts as

trump. The goal is at least 8 tricks.



West leads \D2. East must join the game and lead with one of his high diamonds

to avoid declarer getting the 9.



This game is a trick, because this is an exception to what we learned last

time, that we should draw the trump as quickly as possible. Here, you have a

single diamond in the blind man along with three trumps. You have to trump at

least one diamond in the blind man.



NB! The technique for counting the remaining trumps still applies. From the

start, it is a good idea to calculate how many trumps you have in total (5+3=8)

and how many your opponent has (13-8=5). If you trump back and forth between

declarer and blind man, your opponent still has his 5 trumps.



Here we have}

[BCFlags "1f"]

[Auction "E"]

8 16 8 8



[Event "#"]

[Site "#"]

[Date "#"]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:Q854.T65.AJ3.K83 76.A7.T874.AQT52 AKJ32.QJ4.KQ65.6 T9.K9832.92.J974"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North chooses \S as trump, and the goal is at least 9 tricks (or 10, depending

on which version of the straight is used.



East has no obvious lead, all leads can be correct. But if East plays a heart

or a club, the lowest card (invited) is the correct choice.}

[BCFlags "1f"]

[Auction "S"]

10 6 16 8



[Event "#"]

[Site "#"]

[Date "#"]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:QT63.K76.JT92.A4 875.AJT.KQ8.J852 AKJ9.842.763.KQ7 42.Q953.A54.T963"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East chooses \S as trump. The goal is at least 8 tricks.



South can lead \H3, invite. If declarer bids high, opponent can graze the

contract. If declarer bids low, North can use the information from the invite

lead to know almost for sure that partner has the queen of hearts, and that

\H10 can win the trick.



Advanced:\n

Winning with \H10 instead of \HJ goes against what they have learned with the

highest from the sequence. Therefore, we cannot expect anyone to choose the 10

(if declarer were to choose to bid low). But if you think logically, the 10 is

the right card, and this is a good learning point: the 10 must be the right

card, because if the 10 wins the trick, partner (South) knows who has the jack,

because if declarer had it, declarer would have won the trick with it.}

[BCFlags "1f"]

[Auction "W"]

10 11 13 6



[Event "#"]

[Site "#"]

[Date "#"]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:QT84.94.9542.Q76 K75.AQ3.QT86.JT3 A92.T652.J7.K854 J63.KJ87.AK3.A92"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West has no suit of at least eight cards in total, and chooses to play

grand.



The goal is at least 10 tricks.



North leads out in spades, \S4 (or a high diamond/heart/lowest club).



Declarer gets a test already on the first trick. The task is to bet low with

the blind man, and get South to use up a salute on "air" (if not the jack wins

the trick). If South has to use one of his salutes without leading one of his

declarers, then East-West has two salutes left against North-South's one, and

must win a trick.}

[BCFlags "1f"]

[Auction "N"]

4 12 8 16



[Event "#"]

[Site "#"]

[Date "#"]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:T9863.42.KJ.A952 KQ5.K53.A74.QJT6 A7.QT87.QT863.73 J42.AJ96.952.K84"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South has no trump suit of at least eight cards, and they choose to play

NT. The goal is 8 tricks.



West leads out \D3. Now it is up to partner, East, to play as high a diamond as

possible, \DK (as high as necessary, based on what is on the board - if the

queen was on the board, East would have settled for the jack).



If East-West manages to bring in their diamond tricks, declarer will go for the

scrimmage.}

[BCFlags "1f"]

[Auction "E"]

8 15 8 9



[Event "#"]

[Site "#"]

[Date "#"]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:KQ98.Q98.Q742.A2 43.AT72.JT53.Q86 AJT.KJ54.AK9.T75 7652.63.86.KJ943"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North chooses to play no trump since they do not have a common trump suit of at

least eight cards.



The goal is at least 10 tricks.



East leads \C3, invited.



Declarer will probably take a number of safe tricks in spades and diamonds

before declarer leads hearts. It is important for West to remember, throughout

the game, until he comes in on the ace of hearts, what partner led out and what

it means.}

[BCFlags "1f"]

[Auction "S"]

13 7 16 4



[Event "#"]

[Site "#"]

[Date "#"]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:Q92.Q76.AQJ3.J94 K865.A942.42.A32 AT43.KJT5.K97.KT J7.83.T865.Q8765"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West has no trump of at least eight cards, and chooses to play no trump.

The goal is nine tricks.



South plays his lowest club, \C5, invited. \C5 is a card in the middle, neither

low nor high, but if partner (North) looks at his own cards and his blind man,

North will discover that \C5 is the lowest club, invited.



Here it is important to get cooperation. If North trusts his partner and

continues with clubs every time North comes in, North-South will get at least

five tricks in counterplay, thus preventing East from winning nine tricks. If

North instead plays his own suits, spades or hearts, declarer will achieve his

goal.



}

[BCFlags "1f"]

[Auction "W"]

12 11 14 3

�

